REFER (R&ER (LHIRKR) )

| THETAT 4 | LXEH |
| #EERZ | 19:42 |
EA
EE) 5 = B
BELAFEEHR 11,426 X 12,959 X 24 385 A
REER 6,248 A 7,449 A 13,697 A
MR LEREEH 3,794 A 4,066 A 7,860 A
HBEAREEH 2,360 A 3,229 A 5 580 A
FHEEREER 94 A 154 A 248 A
ZIEER 5178 A 5510 A 10, 688 A
RER 54.68 % 57.48 % 56. 17 %
E=5
EE) 5 = B
BELEHEEHR 15 A 13 A 28 A
REER 0 A 0 A 0 A
AR LEREEH 0 A 0 A 0 A
HBERREEH 0 A 0 A 0 A
THEEREEHN 0 A 0 A 0 A
ENNEREEHN 0 A 0 A 0 A
EEEREEHN 0 A 0 A 0 A
ZIEER 15 A 13 A 28 A
RER 0.00 % 0.00 % 0.00 %
B+ &5
E) E & 5
BELOHEEHR 11,441 X 12,972 X 24 413 A
REERK 6,248 A 7,449 A 13,697 A
ZIEEHN 5193 A 5,523 A 10,716 A
RER 54.61 % 57.42 9% 56. 11 %




